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20,000, 00021 %37 - %05% 57,000 60,000 3,000
OBt4HelAL HEBTH BT
20,000, 00021 %374 A-+05% 57,000 60,000 A3,000
OA3Rl #&S 247 7Y &%
100,000,000 +95% 95,000 100,000 5,000
Oot+R2IZ FIIHEEY
30,000,000 95% 28,500 30,000 A1,500
OW ASHHIOH, 28, 22, o8)
24,000, 00021 #47 A-+05% 91,200 9,000 4,800
OSHeIE RYS NSHOAIAL HLATA
150,000,000 +95% 142,500 150,000 AT,500
OL% 422 &Y L ASLBHBA
450,000, 0002 *95% 427,500 450,000 A22,500
OSUIMaH 0 LS &x
30,000, 0002 95% 28,500 30,000 A1,500
OSHE 2BFFAL SR 2L
55,000, 00021 95% 52,250 55,000 A2,750
O=UAE MEEIE AS 2UHY 29
55,000, 0002/ +95% 52,250 55,000 A2,750
BEIIZAL DSR2 o 2,901,300 3,054,000 A 162,700
401 AEHI L2 2,901,300 3,054,000 A152,700
01 Al&tt] 2,901,300 3,054,000 A 162,700
O2ad JIEE SH(SHMRlAL, oot
2) 2,151,000, 00021 %95% 2,043,450 2,151,000 A107,550
OIN&TE HEBAL 903,000, 00024 *95% 857,850 903,000 45,150
S ENEET 1,140,000 0 1,140,000
= 940,000 0 940,000
x 200,000 0 200,000
401 AIEHIL 2T 1,140,000 0 1,140,000
= 940,000 0 940,000
x 200,000 0 200,000
01 Al&tt] 1,140,000 0 1,140,000
2ol BRoEHEIAA FHl(aE 2E
o EOIFX BH)(LHEH) 400,000 0 400,000
OLoh ZBISHIAIL FHI (A3 26
2 ZI|FX BH) 240,000 0 240,000
OMZEZIIHHEIANE RTEFE 243
Al 500,000 0 500,000
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